	ands S	Senior Higl	n Sch	ool
		JRCHLANDS OR HIGH SCHOOL		YEAR ELEVEN 2022 2022 22 921 11 B
Online by Fr	e at www riday 17t ng "Q9C red past th	UST BE COM w.campion.co th December QT" as your c e 'return date' bu GED DELIVERY SERV	om.au 2021 ode : it may in	
STUDENT GIVEN NAME(s)		STUDENT SURNAME		
ADDRESS				
			STATE	POST CODE
	Boarders Delivery tick here	STUDENT ID	HOUSE	
PARENT EMAIL ADDRESS - REQUIRED				
PARENT EMAIL ADDRESS				
PARENT EMAIL ADDRESS - REQUIRED SCHOOL SUPPLIED STUDENT				
PARENT EMAIL ADDRESS - REQUIRED SCHOOL SUPPLIED STUDENT				
PARENT EMAIL ADDRESS - REQUIRED SCHOOL SUPPLIED STUDENT				



Your Campion Store 751 Marshall Road MALAGA WA 6090 Contact Us 08 62402778 wasales@campion.com.au

# How to order your resources

### Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

### **Options to order**

#### Home delivery

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
- 1. Log on to www.campion.com.au
- 2. Click on Online ordering for parents and students.
- 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
- 4. Select your school and enter in your 4-character Resource List code, which is on the front page of this resource list.
- 5. Select the year level and then choose the items you want to purchase. Then click on continue.
- 6. Enter in your delivery option and complete details.
- 7. Review and complete purchase.
- 8. Once completed an order confirmation will be sent to your email address.

9. If you have purchased any ebooks you will receive a separate activation email. You will need to follow the instructions within the email to complete the set up of each product.

#### Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. **Delivery of these orders cannot be guaranteed prior to the commencement of the school year.** 

#### While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

#### Malaga - 751 Marshall Road, Malaga (next to Stratco)

#### Willetton - 28 Kembla Way, Willetton



#### **Trading Hours**

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours 8:30 am - 5:00 pm(17th Jan 2022 - 5th Feb 2022) Saturdays 8:30am - 2:00pm(Jan 22nd, Jan 29th & Feb 5th 2022) Closed – Sundays & Public Holidays

#### **Refunds**

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to end of February 2022 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

#### Have a Question?

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

#### INSTPRIHDWA

Office Use	Description	ltem No.	⊡ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR ELEVEN					
	Please note that there are digital products (eCode or cCode) on this Resou licenses and are only valid for 1 year (unless otherwise stated). Digital res exchanged if you do change your mind, even if you haven't used or activa items carefully ensuring the correct resources are selected for your child's	ource ted th	s cannot be em. We rec	e returned, r	efunded o	or
	ACCOUNTING & FINANCE ATAR					
P13350	WA ATAR Accounting 1 (2nd edn) [Doyle]	1		1	72.95	72.95
P15079	WA ATAR Accounting 2 (2nd edn) [Doyle]	2		1	72.95	72.95
	Students to provide a Scientific (not Graphic) calculator.		_			
	ANCIENT HISTORY ATAR					
P14576	Civil Wars, The (Penguin Classics) [Appian]	3		1	19.99	19.99
P11712	Plutarch On Sparta (P/B) [Plutarch]	4		1	19.99	19.99
P13313	Ancient Greece (Using Evidence) [Bradley]	5		1	72.95	72.95
	APPLIED INFORMATION TECHNOLOGY GENERAL No Items Required					
	BIOLOGY ATAR					
P08245	WA ATAR Biology 1&2 (Print & Digital) [Skirving et al]	6		1	89.95	89.95
P06575	Biozone Year 11 Biology Student Workbook [Allan]	7		1	39.95	39.95
P07034	WA ATAR Course Study Guide Biology Year 11 (Revised) [Peter Walster]	8		1	54.00	54.00
	<b>BUSINESS MANAGEMENT &amp; ENTERPRISE ATAR</b>					
P07601	WA Business Mgmt & Enterprise: Yr 11 ATAR/Yr 12 General [Criddle, Hinton & Nizam]	9		1	64.95	64.95
	BUSINESS MANAGEMENT GENERAL					
P07590	WA Business Management & Enterprise: Yr 11 General [Criddle, Hinton & Nizam]	10		1	64.95	64.95
	CERT II - VISUAL ART - CADD					
P56414	Ruler 300mm Plastic Clear	11		1	0.75	0.75
P55522	Eraser Plastic Pencil Economy in sleeve	12		1	0.70	0.70
P50271	Pencil (HB) Goldfaber	13		2	0.55	1.10
P55467	Document Wallet A3 PP Envelope With Stud	14		1	3.50	3.50
	CERTIFICATE II - ENGINEERING					
P50271	Pencil (HB) Goldfaber	15		1	0.55	0.55
P58510	Eraser Plastic Pencil Large With Sleeve	16		1	0.40	0.40
P55451	Display Book A4 20 Pocket Insert Cover Black Refillable	17		1	4.60	4.60
	CERTIFICATE II HOSPITALITY					
	Other requirements: 1x Food Container 1x set of Reusable Cutlery					

Other requirements: 1x Food Container, 1x set of Reusable Cutlery

### a tick the items required in the box provided

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	·		-	-		
	CHEMISTRY ATAR					
	Read below options & select accordingly		<u>Choose One</u>			
P00433	Pearson WA Chemistry 11 SB/EB	18		1	89.95	89.95
	Please note: If students have purchased a second hand copy of the abo purchase the below reactivation code to access the digital component.	ve Pea	arson Chemis	try WA 11,	students	can
E02440	Digital Pearson WA Chemistry 11 (2yr Reactivation)	19	ORDER ON	LINE 1	25.00	25.00
	(Only purchase the reactivation code if your child has purchased a seco choose carefully before ordering this product as once purchased, even code, this digital resource cannot be returned, refunded or exchanged if	if you	have not activ	vated or us		
P07467	WA ATAR Exploring Chemistry Year 11 [STAWA]	20		1	37.40	37.40
P09854	WA ATAR Course Study Guide Chemistry Year 11 (Revised) [Lucarelli &	21		1	54.00	54.00
P07624	Proctor] WA ATAR Essential Chemistry 1&2 SB (with 2yr Online access) [Lucarelli]	22		1	79.95	79.95
P51020	Calculator Sharp Scientific EL506TS (new)	22		1	44.95	44.95
		20		·	11.00	11.00
	CHILDREN, FAMILY AND THE COMMUNITY					
P50281	Document Envelope A4 PP With Press Stud Clear	24		1	1.25	1.25
	CHINESE SECOND LANGUAGE ATAR					
P02114	Ni Hao 4 Advanced Level Workbook 3E [Fredlein]	25		1	33.99	33.99
P08401	Collins Easy Learning Mandarin Chinese Dictionary 3E	26		1	22.99	22.99
	Retain from previous year if purchased. Compulsory this year.					
P55442	Display Book A4 20 Pocket Black Refillable	27		2	2.00	4.00
P50271	Pencil (HB) Goldfaber May use a mechanical pencil instead.	28		1	0.55	0.55
	COMPUTER SCIENCE					
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	29		1	13.95	13.95
	DANCE GENERAL					
P07612	WA Dance: Yr 11 General [Chapman, Jasper & Sutherland]	30		1	49.95	49.95
	DESIGN: GRAPHIC DESIGN					
P52011	Visual Journal Purple 60 Sht/120 Pg 240x320mm	31		1	17.95	17.95
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	32		1	13.95	13.95
P52001	Pencil (2B) Goldfaber	33		2	0.55	1.10
P56081	Marker Artline #200 Black 0.4mm	34		2	3.60	7.20
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	35		1	9.20	9.20
	Please note this A3 display folder is non refillable. There may be a need to pure refillable A3 binder and plastic sleeves elsewhere.	chase	2 over the cou	rse or you	may wish t	to source
	DESIGN PHOTOGRAPHY GENERAL					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	36		1	9.20	9.20
P51183	Memory Card Classic 16GB UHS Speed Class 1(U1)- NO RETURNS	37		1	24.95	24.95
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	38		1	13.95	13.95
	DRAMA GENERAL					
P07370	Laramie Project The (Incl. Laramie Project: Ten Years Later) [Moises Kaufman et al]	39		1	24.99	24.99
P11571	Ruby Moon (Currency Play) [Matt Cameron]	40		1	23.99	23.99
	EARTH ENVIRONMENTAL SCIENCE ATAR					
P16788	Spotlight WACE Nat Earth & Enviromental Science Units 1&2 [Heffernan]	41		1	69.95	69.95

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ECONOMICS ATAR					
P30236	WA ATAR Discovering Economics Units 1 & 2 7E [Parry & Kemp]	42		1	74.00	74.00
1 00200	(Due approx. January 2022)	42		I	74.00	74.00
P14351	WA ATAR Course Study Guide Economics Year 11 3E [Andrew Tibbitt]	43		1	54.00	54.00
	Students to provide a Scientific (not Graphic) calculator and a 30cm rule			·	0.100	0.100
	ENGLISH GENERAL					
P55571	Exercise Book 225x175mm 8mm 96 Page	44		1	1.00	1.00
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	45		1	3.55	3.55
	ENGLISH ATAR					
P30238	Good Answers English 2022	46		1	28.00	28.00
	Please note the title above will not be available until 2nd term and will be deli distribution. All students studying English ATAR must purchase this item.	vered in	bulk to the so	chool if order	ed online	for
P14402	Insight Year 11 English WA (Print & Digital) (Term 1) [Bondin et al]	47		1	46.95	46.95
P14672	Insight WA Year 12 ATAR English Exam Practice [L Bondin & L Pettigrew] Keep for Year 12 ATAR	48		1	19.95	19.95
	LITERATURE ATAR					
P30239	Good Answers Literature 2022	49		1	28.00	28.00
	Please note the title above will not be available until 2nd term and will be deli distribution. All students studying English Literature ATAR must purchase this		bulk to the so	chool if order	ed online	for
P12612	Glass Menagerie (Penguin Modern Classics)(Play) [Tennessee Williams]	50		1	19.99	19.99
P17579	Literature Handbook - A Guide to Literary Analysis [Robert Beardwood]	51		1	54.95	54.95
P31414	A Glossary of Literary Terms (11E) [Abrams & Harpham]	52		1	97.95	97.95
	ENGLISH AS AN ADDITIONAL LANGUAGE ATAR					
P06880	English Grammar In Use (With Answers & Interactive) (5E) [Murphy]	53		1	69.95	69.95
P15522	Senior Text Types - Writing Guide For Students (3E) [Elli Housden]	54		1	27.95	27.95
P01773	Longman Academic Writing Series 4 [Oshima et al]	55		1	72.95	72.95
	FOOD SCIENCE TECHNOLOGY GENERAL					
P50281	Document Envelope A4 PP With Press Stud Clear	56		1	1.25	1.25
	Other requirements: 1x Food Container, 1x set of Reusable Cutlery					
	FRENCH SECOND LANGUAGE ATAR					
P16664	Collins French Dictionary and Grammar 8E [Collins]	57		1	29.99	29.99
	Retain from previous year if purchased. Compulsory this year.					
P55442	Display Book A4 20 Pocket Black Refillable	58		2	2.00	4.00
	GEOGRAPHY ATAR					
P30106	WA ATAR Geography Units 1&2 (2E) [Griffin & Smith]	59		1	76.70	76.70
P56252	Pencils-Coloured Colourush Pkt 12	60		1	4.05	4.05
P55442	Display Book A4 20 Pocket Black Refillable	61		2	2.00	4.00
P56353	Protractor 10 cm 180 4" Half Circle	62		1	0.45	0.45
P56414	Ruler 300mm Plastic Clear	63		1	0.75	0.75
P13735	The New Geographer's Toolkit [Snell, N J]	64		1	43.45	43.45
	HEALTH EDUCATION ATAR					
P02245	WA Health Studies Year 11 ATAR 2E [Emily Lockhart]	65		1	70.00	70.00
	HEALTH EDUCATION GENERAL					

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount
04000			_		~~~~	~~~~
204036	WA ATAR Human Perspectives 1&2 (Print & Digital) 8E [Whan et al]	66		1	82.95	82.95
207362	WA ATAR Course Study Guide Human Biology Year 11 (Revised) [Peter Walster]	67		1	54.00	54.00
04773	Dot Point WACE Human Biology Year Units 1&2 [Humphreys]	68		1	49.95	49.95
	JAPANESE SECOND LANGUAGE ATAR					
00210	Oxford Beginners Japanese Dictionary (Jap-Eng-Jap) [Oxford] Retain from previous year if purchased. Compulsory for this year.	69		1	29.95	29.95
50271	Pencil (HB) Goldfaber	70		1	0.55	0.55
255442	<i>May use a mechanical pencil instead.</i> Display Book A4 20 Pocket Black Refillable	71		2	2.00	4.00
55442		71		2	2.00	4.00
50271		70	<b>—</b>	4	0.55	2.20
55451	Pencil (HB) Goldfaber Diselau Bask A4 00 Desket keset Oswar Black Defiliable	72		4	0.55	2.20
58510	Display Book A4 20 Pocket Insert Cover Black Refillable	73		1	4.60	4.60 0.40
55467	Eraser Plastic Pencil Large With Sleeve Document Wallet A3 PP Envelope With Stud	74 75		1 1	0.40 3.50	3.50
	MATERIALS DESIGN TECHNOLOGY - JEWELLERY		_			
55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	76		1	9.20	9.20
50271	Pencil (HB) Goldfaber	77		2	0.55	1.10
	MATERIALS DESIGN TECHOLOGY - TEXTILES					
255439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	78		1	9.20	9.20
	MATHEMATICS SPECIALIST ATAR					
11822	WA ATAR Maths Specialist Units1&2 (Print & Dig)(Rev. format) [Sadler]	79		1	72.95	72.95
04925	WA ATAR Maths Specialist Yr 11 Course Revision (Revised) [O T Lee]	80		1	54.00	54.00
56414	Ruler 300mm Plastic Clear	81		1	0.75	0.75
55272	Calculator Casio Graphic CAS Class Pad FX-CP400	82		1	254.95	254.95
51020	Calculator Sharp Scientific EL506TS (new) Retain from Year 10.	83		1	44.95	44.95
	MATHEMATICS METHODS					
11820	WA ATAR Maths Methods Unit 1 (Print & Dig)(Rev. format) [Sadler]	84		1	39.95	39.95
11821	WA ATAR Maths Methods Unit 2 (Print & Dig)(Rev. format) [Sadler]	85		1	39.95	39.95
09429	WA ATAR Maths Methods Yr 11 Course Revision Series (Revised) [O T Lee]	86		1	54.00	54.00
56414	Ruler 300mm Plastic Clear	87		1	0.75	0.75
55272	Calculator Casio Graphic CAS Class Pad FX-CP400	88		1	254.95	254.95
51020	Calculator Sharp Scientific EL506TS (new)	89		1	44.95	44.95
	Retain from Year 10.					
	MATHEMATICS APPLICATIONS ATAR					
07435	WA ATAR Mathematics Applications YR11 Course Rev Series-Rev [Shanahan Mooney]	90		1	54.00	54.00
11818	WA ATAR Maths Applications Unit 1 (Print & Dig)(Rev. format) [Sadler]	91		1	39.95	39.95
11819	WA ATAR Maths Applications Unit 2 (Print & Dig)(Rev. format) [Sadler]	92		1	39.95	39.95
56414	Ruler 300mm Plastic Clear	93		1	0.75	0.75
55272	Calculator Casio Graphic CAS Class Pad FX-CP400	94		1	254.95	254.95
51020	Calculator Sharp Scientific EL506TS (new)	95		1	44.95	44.95
	MEDIA PRODUCTION & ANALYSIS GENERAL					
55522	Eraser Plastic Pencil Economy in sleeve	96		1	0.70	0.70

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P52001	Pencil (2B) Goldfaber	97		2	0.55	1.10
	MATHEMATICS ESSENTIALS GENERAL					
P07494	Mathematics Essential Units 1 & 2 Year 11 WA [Ellery & Strickland]	98		1	55.00	55.00
P55097	Lever Arch File A4 Board	99		1	4.95	4.95
P56414	Ruler 300mm Plastic Clear	100		1	0.75	0.75
P56353	Protractor 10 cm 180 4" Half Circle	101		1	0.45	0.45
P55343	Compass Micador Self-Centering 140mm Safety #325	102		1	1.20	1.20
P51020	Calculator Sharp Scientific EL506TS (new) Retain from Year 10.	103		1	44.95	44.95
	MODERN HISTORY ATAR					
P17009	USA Between The Wars 1919 - 1941 (Study in Depth) [White et al]	104		1	71.95	71.95
P15519	Republic to Reich:Hist. of Germany 1918-1945 (Print&Dig)4E [Mason et al]	105		1	65.95	65.95
P55442	Display Book A4 20 Pocket Black Refillable	106		1	2.00	2.00
	MUSIC ATAR					
P55919	Music Manuscript Writing Pad 12 Stave 100 pages	107		1	11.40	11.40
P52001	Pencil (2B) Goldfaber	108		4	0.55	2.20
P58510	Eraser Plastic Pencil Large With Sleeve	109		1	0.40	0.40
P04879	Blitz Book of Harmony Rules [Samantha Coates] Only required if not previously purchased.	110		1	11.99	11.99
	MUSIC CERTIFICATE					
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	111		1	13.95	13.95
	Walkman/Pod type earphones also suitable.					
P55919	Music Manuscript Writing Pad 12 Stave 100 pages	112		1	11.40	11.40
P52001	Pencil (2B) Goldfaber	113		4	0.55	2.20
P58510	Eraser Plastic Pencil Large With Sleeve	114		1	0.40	0.40
	PHILOSOPHY AND ETHICS ATAR					
P06051	WA Philosophy: A Resource for Yr 11 ATAR/Yr 12 General [S Millett, A Tapp	er]115		1	54.95	54.95
	PHILOSOPHY AND ETHICS GENERAL					
P10544	WA Philosophy: Yr 11 General [Millett & Tapper]	116		1	54.95	54.95
	PHYSICAL EDUCATION STUDIES GENERAL					
	Students are required to purchase the Red Physical Education polo from	n the Ur	niform Shop	. This is cor	npulsory.	
	PHYSICAL EDUCATION STUDIES ATAR					
E01135	Digital Phys Ed Studies ATAR Units 1&2 Stud Txt (MyConnect)	117	ORDER O	NLINE 1	49.99	49.99
	Students are required to purchase the Red Physical Education polo from the	Uniform	Shop. This is	s compulsory	<i>י</i> .	

PHYSICS ATAR

Read below options & select accordingly

<u>Choose One</u>

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P00495	Pearson WA Physics 11 SB/EB	118		1	89.95	89.95
	Please note: If students have purchased a second hand copy of the abo purchase the below reactivation code to access the digital component.	ve Pea	rson Physics	WA 11, st	udents ca	in
E02442	Digital Pearson WA Physics 11 (2yr Reactivation)	119	ORDER ONL	INE 1	25.00	25.00
	(Only purchase the reactivation code if your child has purchased a second choose carefully before ordering this product as once purchased, even code, this digital resource cannot be returned, refunded or exchanged if	if you l	have not activa	ated or us	ktbook. P sed the re	lease activation
P07454	WA ATAR Exploring Physics Year 11 [STAWA]	120		1	37.40	37.40
P05434	WA ATAR Course Study Guide Physics Year 11 (Revised) [Lucarelli & Henderson]	121		1	54.00	54.00
P51020	Calculator Sharp Scientific EL506TS (new)	122		1	44.95	44.95
	POLITICS AND LAW					
P01295	WACE Politics & Law Unit 1&2:Democracy and Justice 2E	123		1	71.50	71.50
	PSYCHOLOGY ATAR					
P01216	WA ATAR Psychology: Self & Others 1&2 (Print & Digital) 3E [Garton et al]	124		1	49.95	49.95
P04751	VCE Psychology Research Methods Workbook (2E) [Kristy Kendall]	125		1	26.95	26.95
P19293	WA ATAR Course Study Guide Psychology Year 11 (Revised) [Alana Brentnal	l] 126		1	45.00	45.00
	VISUAL ARTS GENERAL					
P50226	Visual Journal Yellow 60 Sht/120 Pg 240x320mm	127		1	17.95	17.95
P50335	Brush Water Colours Taklon Flat #956/ 8	128		1	11.85	11.85
P50440	Pen Fineliner Stabilo Point 188 Black	129		1	2.60	2.60
P52001	Pencil (2B) Goldfaber	130		2	0.55	1.10
P52013	Pencil (4B) Goldfaber	131		2	0.60	1.20
P55236	Brush Water Colours Taklon #907/2	132		1	7.15	7.15
P56081	Marker Artline #200 Black 0.4mm	133		1	3.60	3.60
P56115	Marker Artline #210 Black 0.6mm	134		1	3.60	3.60

Number of Boxes ticked:



Postage (Home delivery only)

\$0.00

<b>ESTIMATED AMOUNT DUE</b>	
(PRICES CORRECT AT 11/11/21)	

\$

☐ Yes, please email me with information on current Year 11 and 12 Study Guides.